Funicular 1
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polygon must pass, which could be
yL := Orfit yc = —210t  yg := Offt hinges in a 3 hinges (isostatic) arch
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Points though which the funicular Unlform Loads
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uniform dead and live load (on horizontal projection)

This sheet builds the funicular polygon that passes through three points of
» 1 set of point dead + live loads

e 1 uniform dead + live load extended all over the span
Note that if central point is below extremes we find a cable sahpe, otherwise we get an arch shape
Procedure is find isostatic moment and scale to meet within span point ordinate, then chart
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Moment of a point load P at abscissa ab
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Service level Moment
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Scaling the shape of moment to meet obliged points
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net sagitta at within span obliged point

Funicular Polygon for these service level loads
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